L.2.2.C-Test 1C Appostrophes and Possessive

Multiple Choice

Identify the choice that best completes the statement or answers the question.

1.

10.

Which sentence has a contraction?

a. You are my friend. c. lam your friend.
b. I'm happy! d. Iam happy!
. Which sentence uses apostrophes correctly?
a. Marys' cats don't have any toys. c. Mary's cat's toys are missing.
b. Mary's cats dont' have any toys. d. Mary's cat doesn't have any toys.

. Which response shows the apostrophe in the correct place?

a. The dinosaurs' roars could be heard for b. The dinosaurs roars's could be heard for
miles! miles!

. Which sentence uses an apostrophe correctly?

a. The girl's dresses are brand new. c. We're going to the movie today.

b. Theyd' like to play soccer with us. d. Did'nt you go to the park already?
. Which sentence uses an apostrophe correctly?

a. | cant' go to the park. c. They are'nt coming to the party.

b. Did you see Amy's new kitten? d. I wentto Sams house yesterday.

. What does this sentence mean?

Matt's dog is barking.

a. The dog of Matt is barking. c. There are two boys named Matt and their
dogs are barking.

b. Matt and his dog are barking.

. What two words make the contraction weren't?

a. we +aren't Cc. were + not
b. are + not d. where + not

. What two words make the contraction won't?

a. will not C. want not
b. would not d. won't not

. What two words make the contraction he'd?

a. he does c. hedid
b. he would d. he liked

Which sentence shows the correct way to rewrite the following sentence:



The bike that belongs to Kim is purple.
a. Kims' bike is purple. b. Kim's bike is purple.
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